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(a) Use the Trapezoidal Rule, with n = 5, to approximate the 5 § %
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(e) Find a sharp upper bound for the error in the apprommanon 3
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(f) Find the smallest number of partitions n so that the approx-
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Book Problem 19

(a) Use Simpson’s Rule, with n = 6, to approximate the inte- |
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Book Problem 20

Find the smallest number of partitions » so that the approxi- = , ) k(}p 5
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Use Simpson’s Rule and all the data in the following table to
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Book Problem 17 =
(a) Use the depomt Rule, with n = 4, to approximate the ﬂ‘f - A “[é (c.5) t g (i ._,) ¢ ?(g_ 5) S{é‘ S)J

integral [y 7e~ dx.
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(b) Compute the value of the definite integral in part (a) using I

your calculator, such as MATH 9 on the TI83/84 or 2ND 7 on /L(g,lﬂ' ) S
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Extra Problem

A student is speeding down Highway 16 in her fancy red
Porsche when her radar system warns her of an obstacle 400 feet
ahead. She immediately applies the brakes, starts to slow down,
and spots a skunk in the road directly ahead of her, The "black
box” in the Porsche records the car’s specd every two seconds,
producing the following table. The speed decreases through-
out the 10 seconds it takes to stop, although not necessarily at a
uniform rate.
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Time since brakes applied(sec) | 0 | 2 ( 4 | 6 | 8] 10
Speed (ft/sec) 105 [ 8550|1255 0

A. What is your best estimate of the total distance the stu-
dent’s car travcled before coming to rest (note that the best es- (%» )~t ) ‘
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timate is probably not the over or under estimate that you can . . ( 0)’) ’___L 2 (5
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B. Given the fact that the Porsche slows down during break- . {f 2 [_')'
ing, give a sharp - T
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i. underestimate of the distance traveled: KD__._LKSJ‘_) 1 ( B - \3 :‘g

ii. overestimate of the distance traveled: _L_h'_;_(_L_Lo_{' Tht b1y 5)( 2) = R,
C. Which one of the following statements can you justify
from the information given?

e A. The “black box™ data is inconclusive. The skunk
may or may not have been hit.

o B. The car stopped before getting to the skunk.

o C. The skunk was hit by the car.



